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1. Apply mesh analysis to find i1, i5, and the power supplied by the current source of 2 A as shown in Fig. 1. (20%)
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2. Consider the circuit shown in Fig. 2.

(a) Find the Thévenin equivalent circuit. (15%)

(b) Find the value of a resistor connected across a, b to have the maximum power transferred and calculate the
maXImum power. (5%)

3. Consider the circuit shown in Fig. 3, where 3/\5/2
) —1A <0
ZS(I) = . . + ‘ » _ +
1A £>0 | i, verm01F 20 v, S0.1H

(2) Find vc(0*) and v%-(0%). (5%) |
(b) Use laplace transfofm to find v, (¢) fort > 0. (15%) Fig. 3

4. The transformer ClI‘Clllt in Fig. 4 operates under steady state cond1t1on Find zl(t) i2(t), and vau,«(t) given that
0s(¢) = 5sin(1000¢) V. (20%)
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5. Fora circuit shown in Fig. 5,

' vV
(a) obtain the transfer function H(s) = —I—/—L—; (10%)

§

(b) find the forced response vy, (¢) when vs(¢) = 2e™ cos(4t). (10%)





